Josh Mickley output
A:\>array < c:\temp\p2goodin.txt

 BEGIN ENTERING INTEGERS:

INPUT RECEIVED

THE ARRAY AS ENTERED:

     666     616       0       0       0       0       0

     555     323       0       0       0       0       0

     444     345       0       0       0       0       0

     333     456       0       0       0       0       0

     222     987       0       0       0       0       0

ARRAY STATISTICS:

  THE LARGEST INTEGER IN THE ARRAY IS: 987

  THE SMALLEST INTEGER IN THE ARRAY IS:   0

  THE AVERAGE FOR ALL ELEMENTS IS:  141.00

  THE LARGEST INTEGER WAS FOUND AT INTARRAY(5,2)

THE ARRAY WITH COLUMNS IN ASCENDING ORDER:

     222     323       0       0       0       0       0

     333     345       0       0       0       0       0

     444     456       0       0       0       0       0

     555     616       0       0       0       0       0

     666     987       0       0       0       0       0

  THE LARGEST INTEGER WAS FOUND AT INTARRAY(5,2)

A:\>array < c:\temp\p2bad.txt

 BEGIN ENTERING INTEGERS:

fmt: read unexpected character

apparent state: unit 5 (unnamed)

last format: (I3,I3,I3,I3,I3)

lately reading sequential formatted external IO

This application has requested the Runtime to terminate it in an unusual way.

Please contact the application's support team for more information.

A:\>array < c:\temp\p2full.txt

 BEGIN ENTERING INTEGERS:

INPUT RECEIVED

THE ARRAY AS ENTERED:

     666     616     -12     111     212     987       0

     555     323     -35     222     434     212       0

     444     345     -42     333     454     432       0

     333     456     -91     444     567     345       0

     222     987     -23     555     456     798       0

ARRAY STATISTICS:

  THE LARGEST INTEGER IN THE ARRAY IS: 987

  THE SMALLEST INTEGER IN THE ARRAY IS: -91

  THE AVERAGE FOR ALL ELEMENTS IS:  323.00

  THE LARGEST INTEGER WAS FOUND AT INTARRAY(1,6)

THE ARRAY WITH COLUMNS IN ASCENDING ORDER:

     222     323     -91     111     212     212       0

     333     345     -42     222     434     345       0

     444     456     -35     333     454     432       0

     555     616     -23     444     456     798       0

     666     987     -12     555     567     987       0

  THE LARGEST INTEGER WAS FOUND AT INTARRAY(5,2)

A:\>

Goodin: Ignorres last column and uses 0s in computations

Bad: Terminates abnormally

Full: Ignores last column and thus average is calculated wrong

